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class Box {

private double length;
private double width;
private double height;

//constructor

public Box(double a=1, double b=1,double c=1){
length=a;
width=b;
height=c;

public void print(){
Console.WriteLine(" (" + length + ";" + width + ";" +
height+")");

public double volume(){
return length * width * height;
¥

public double surfacearea(){
return (length x height * 2 + width * height *x 2 +
length x width x 2);
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class Mainclass{
public static void Main(string [ ] args){
Box b1 = new Box(12,10,8); //Create an object b1 which is a box

Console.WriteLine(b1.volume()); // will print (12; 10; 8)
//Now defining an array of objects of type: Box

Box [Jlist= new Box[10]; /The new "here is the array of objects
for(int i=0;i<10;++i
IlstH =new ox (i,i,i); #/The ‘new’ here is each individual Box

list[i].print();
Console. erteLlne(”surface area is: "+ list[i].surfaceareal());

}
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class Cube:Box{
private string name = "Cube"; //added a property
//A derived class does not inherit the constructor
//Since Cube is derived from Box, and Box does not
//have a default constructor, Cube must invoke base.

public Cube(double x, double y,double z):base(x,y,z){
if (x '=y || x != 2)
Console.WriteLine("error");

by

noMN DX DA NP Y NIpna DaTnw print :Dwa ATnn 1TanY nan Dy
-2 DUMaNAN DX 1PTaNY (1 .N2 TV 2wy nna 0NaT 2 navwh by, nap”
virtual -2 Box npYnna print nx 1T (private :mpna) protected

public override void print(){
Console.WriteLine(" (" + length + ";" + width + ";" +
height+")" + " "+name);
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Cube 5y 1apn

DaMm) ,NYTNN NpSnNnn Dwh class DN INKY N NN My 1annn
class Cube:Box M 73N NNAOTA .DWI NINN NPYNNT DY NN DYMNMP)

length, width, :DmaxnN NROY DX W NWTNN NpO5NN1 D) ,NYNNNN NKRXIND
DMNX MITNY Dan NN .volume, surfacearea, print :mMnnNn NX D1 height
.Box -2 DMP 1KY name 1MaNnN NN 11N ,qD1Aa .(Cube-2

DX Y NN Cube-w M2 ,mNX¥nin 2Mmnn Xin Cube 5w (constructor) nnan

122N ,Cube S Nnan Sv Dvn1an "NKNY 25 1w .Box Y nnan
:base(x,y,z)

Cube 5w Dmunian Sy Box 5w ninan ndSyan waNny 1annn nr

zZ 1 X,y : DWW

,Box Yvw nnan nx oYyan ux ,Cube Sw nnan Sv owian nano Mad 1Mmdd
TNYNY TI LNMNY MK DVINPNRN nerby X Snnxbd ooy ux Cube -2 o o
DN NNWY NDATM DY DWNpNNY nNp*Ta 1 1Y v Cube Sw nnaa ,viwa 5on
DY DN

oY MITMNN DX NS DX ™0 (polymorphism) MMmyn M2 NX DTN 1)

TININ NN Box Yw oamannn
protected double length;

protected double width;
protected double height;

JTINAN NN ONILIM MY Box N2 print Ow NOTann XK Nw) L, qDua

public virtual void print(){

Console.WriteLine( + length + + width + +

height+")");

NMKY NXPNI NNIYN NDIN DX DY “Dmyn” Y 135 Iwann mHXiwIM X1 print Nyaw nr
Sy print NN 9wanY 1Y awann nr N .(override :NMpan nNrva) Cube ;N2 1IN
I N5V1a XN 1YY DXVN DY DNNNA ANINN XM ,Cube 10N DXV D2 Box 10N DNy

JNMYN M2 NYNNN NHYYanY T N .NMnn Yy nxn

Cube a = new Cube(3, 3, 3); // 77Tpa Yon - N21p DY
Cube b = new Cube(3 ,3 ,7); // error
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M AMNA .INY 1K NMYOXNY ‘NSx Cube Yw nNnan 2 error DaT X1 NMMYN NnMpaa
YN DATI P DN, N NIPMA NP21PN DX DN V1IINYD TXD NN
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Box []boxcube= new Box[2];
boxcube[0] new Box(1,2,3);
boxcube[1] a; //we defined it above

for (int j = 0; j < 2; ++j) {
boxcube[jl.print();

DNINNNN ND1MAN NIYva ,1pn NN DA N2NN NN D) DaT1n for-n nR"Y

172 NN RN, print 5w nnx 5235

Cube :nNp5Nna NRxNMY print -N NTINN2 p1 NPaTN Cube NYMN 2NN DWW TR

mMwY nposnn
Math NpoNNd NMTa ,0MYY NITN XYY wnnwn 107 1NaY NPOLD MNMNN NTNAY PO NN T
:21N2Y AN a bW w1 wnw XixXnd 1 Ywnd awnnwin 112 nav

b=Math.sqrt(a);
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